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1. Which of the following fraction expresses 22%? ® %— & & © % © ‘%
2. Ing:h,"g"is called: ©Antecedent @ Consequent ©Mean © Extreme
J. Najam has to pay Zakat on his savings. If his savings is Rs.90,000 then the amount of

Zakat will be: (®)Rs.2200 @ Rs.2250 ©Rs.2300 © Rs.2350

' Prof
4, Which of the following reiations is correct? @ Profit % =M x100 ) Profit % i x100,

op CP SP
©Proft % = .4

Prof x100, © Profit % =mx1ﬂﬂ

6. Which of the following refation is correct? @ SP=MFx(m-E:mm : | @&?@
100+ Discount-% [ A 10 W F)@ ]

@SP:MPx{ ® ],(E)SP:MPO |
U

\ 100+ Discount % |
i

4500 ®JRs,6000 ©Rs.7500 @ Rs.9000

rate is-5% then the amount of profit for

one year is: (®

6. Naveeda deposited % 0t
0

8. If Wajahat is paid Rs.300 per day, then his weekly income is; ®)Rs.300 ® Rs.600
©Rs.2100 © Rs.2800

9. Indy", the radicalis; ©18 ©6 Oy @
10. The value of 4(2%) is equal to; ©8 ©12 ©24 @32

11, If d=5, then which of the following is an AP? () 15,16,20,24,.... @15,18,22.26.....
©15,192328,.... ©15.2012530,..

12, Which of the following s geometric sequence? ©9,14,19,.. ©243,819,..
©352023,.. §42,252,1512

13. 1fS={ab,cde}and T={ae o u} then SUT is equal to: @ {a.e ) @1ab,s m
©faabedeiou} © {abcdeeiou) a(o

R O |

14, Which of the following ordered irm Bdrant?y (4,

Ollowing data is: 14,15,17,17,19,25,28,33. 17 @18

©(-4,-7) 8(-4,7)




